KaneHaapHbivi y4ebHbIV rpadnk

@2l g-0¢ K_K____________ 2l v-62 K_K____________ @le-gz K_K_K_________ @[ 1-9z K_K_K_K______
BRI > B |N|& > B NS o B |2|R o
EREER x FHEER x HRER x HREE x
3|2[=[2 x 3|2 |=[ x 3¢~ x 3| || x

M =) 4 2 |~ ¥ 2l o-18 N 2 v-62 v
Ql1-92 s g &= s NS > g |NR >
5,818 s 233 s Mmﬂ% s Mmmﬂ s
BHEE > SNEE > elRelClEe<<[<[gE[=5] = | =
MM w|d 3_3_3_3_3_K Q@ |+(Q 3_y_y_y_y_y Q| |ofo C Q@ |~ =

3| v-s82 ™ J|e-12 ™ J|z-92 = I 3|8 =

e e ] ol el sl R I R ™ MAEIR = %mﬂ% =
QIERIR[ [ol]e]w|=[S]|5[2]2] [~]]o]o]n|S]E [N]R] [»[=]elE]e|s ] [8]e] &+ [=]=]
MM7B M_MGH 33333MM5ﬂ ™ 3| |»|o ™
Ql9-1¢ Q| s-oe | v-62 [o|o|o|o|o(e(Q| z- 22

3 ]S 3 K B N|&] [o]|o|x|o|=(S] |KI&

— R

B=(S[R B[S RIS %mmw;é¢ -
SEEIE R S EIE B S EI A & |oS

W oo [sefx [« [« | ~|Qf |ev]oox B EINE Sls-6

@ z-92 * |8 1-g2 HENE] %bn

3| 2[2[2 S RER SHEIE SHE

BEEE FHEE HSEE 3| &l

> ] b= RIRNIE & o[ S |-

| -6z | €-82 o z-22 o |

RN 8|, [][& 8|, |][R wwm

Q|58 mmmm mmmw ==

&= TR NE T T S TT I |-

NREE N|9-82 N| G-z N|l€-9

e e LT8R LT (=RE T =R

NEER NEREE NiEE NEIE
SElE =T T [FISFE=T T RFlels[=T T [Flél~|2

mmm.l ~ = Qlo-1¢ ~ Qls-oe ~ Ql v-62 ~

S @& o | > | B8]e o> [d [Reeooex]d] [S]& o
HEER o NEEIE o NEEE o NEEE o
mqnnnnnﬂ ® mmmm ® mmgw _3_3_3_3_3mmsm* olo(o|o
m <3 [ [ [ |* oS || * 3 [~feo * ] I B TN P P P P P
Rl e-8z |w|o|m|m|x |« |B] 2- 22 |o]|m|m|m]x ®l1-92 3_33_33_* wb%ﬂ333333
mfm.ﬂ %M/% 33.“.%.%% 333.“...%.@% ™ ﬂmmm ™
SIS g|8|3 SR Sl@=2S

BaEER o[ Bl EREE

Jl9-0 G-62 S| v-82 Jle-12

al IR N|& 3l a|RS 3R

BB SEE SER NEE

EEE HEE 4E [~ A[E ||y

S|l L[S [~ ][] ] mo.48____*_ Blsoel | |[[]
o(T-9 al= 9b2% 9b22

EAE HER =|8[5[R BDEEE

~E[S SEIE NHEE HEE

©|O|wn <(S ©o| |m|lo ©o| |~fo

w|y-g £-.2 | z-92 | T-52

I BIRIS ~ 83N <188

ol E|S =132 o E|S]E o E|IS|S

| S|~ SIGE ~|Sfofd ~[S[=(2

— ©|H 1 __Wﬁyﬁ%yﬁ muom ______ _ _ _ — Vu@N _________ _ _ — M|WN ____________ _
513ls alel -~ [BlElelel = |EEsls]
3|2|Q SIRIK - 3|2|QIS = 3|2|QIS =
o= = Qo= Qo=




